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Review of Systems of Equations Quiz Review
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1) The spreadsheet below shows the monthly income and expenses for a new business.

A B 54 Using linear regression find a linear equation to model
sl Month [T— Expenses both the income and expenses of the new business.
A L5 00;.5.“% Using these models find the month at which the
) May $1500 55 F21 4 - income and expenses will be equal.
6 June $3500 " $18,800 a. Equation 1 (Income):
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c. Solution: ( q 3 5 /'0 2) _ «-—}é,()() - - 3,7, 4/0(/
(q.33, 1.03&+4) 5
d. Explanation: - '”"' €as ((? 55, 1 C.‘ (&) O)

i. During which month will the income and expenses be equal?
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ii. Atwhat dollar amount will be the value of the income and expenses when they are equal?
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Solve each of the following systems by graphing. CHECK YOUR SOLUTIONS. s 2 /,m e
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4) y=x+4
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Solve each system by elimination. CHECK YOUR SOLUTIONS.
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Solve the following using substitution. CHECK YOUR SOLUTIONS
D
11)y=@2x+3
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Solve the following using any method that you wish... Determine if there is one solution, infinitely many solutions or

no solution. Explain your reasoning...

14)x+@—3 )15) 2x Hy)=3 ( 15( 3 —9)
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